PROFIL LONGITUDINAL
Ax Lct Paius David Km 1530.000 - Km 1700.000

SCARA : HORIZONTAL 1:500 VERTICAL 1:50

e r.o
== — -
S [ 4 |€£—
5> [E= g%
s |22 (g
= =2
a o
<<
= 3
2 o
3 o
L=
(&) .mm o
g5 | 35|20
= mm A+
- BE| =
g | 23|58
m m.m mm
S | zEl2
o
& | £8|S |
LI |
)
2 | £2lgs
=
= | 82|29
. gs|20O
= S8 M
2 BE| W
H5E2 +
o = 2 —
sg |2
= |o S
s (2 X
ao [E
© =)
< w0 —
=) = =
L. S
mw WW o N
> S| o
< S8 82
. <
o EX
2
-
«
— =
n 2
i &
€ o K2
SW%
28 N
|O4
%84 cl|lclwd
nﬂQ oo
o n|ln|O
o Yololsl5]s
S| e O|O0|o
S |5|1ERIRIS
=Z | o] o O
+ clc|c
O Ll lE
Q
o
.
& .0
- |
s |8lels s
[ h=3 K53 P (=)
SIE|5 L
. —
old | |o
m wia a >

~
£
v 9L'L6¥ 000021
, W |06y ooseet| {28
PPV e5veol| B3
b |eriey CACTIN 1))
b 816V ZLveol
W |eLiey 0z'€691
b+ |6Ll6Y 181691
5 6L'L6¥ Zz'1691
6L L6V ¥9'0691
b |6Li6y ¥9'0691
b |6LI6Y 00069t | Q
b+ |6Ll6Y 158891 | o5
b |6LI6Y ovgoL| N
b+ |6Ll6Y iZigoL| —
b |6LI6Y 00's89L
b+ |6Ll6Y 00089}
b |6LI6Y v0'8291
+_ |6Ll6Y 09°2201
b+ |6Ll6Y 00’5291
b+ |eLl6y 0v'09)
b |eLiey 0£'0291
b+ |eLl6Y 000291
6L'L6¥ 58'9991
\ b+ |eLl6Y 589991 | 35
ﬁ b |oazey 005994 | o
b |Zeley egiooL| G
W |zaley eLiooL| —
, v |2gley 191991
b+ |ealey 00'0991
b+ |98'Z6Y 00's591
| + |66y 00089}
b 16'26 00'shel
\ z6°L6v YOrhoL
b |2626Y OrheL
l+ |2el6y L8°EVOL
b |2626y LUEVOL
v |vBl6Y 000beL| I~
\ b | 9626V 00'5est | <
G
\, T 000€9}| —!
b 1086 00'5291
\ b |voeey 000294
_ yO'86Y 186191
\ b | v0eeY 18'6191
\ b |20°86Y 0019}
b |oresy 000ke| _
| .
| b+ |eVesy 0ososl | &
b | viesy evvool| I, ©
b |lVesy 00'0094 E
b+ |BLesy 20'265)
\ v |ozesy 00's654
| b |zzesy 99'165)
\ + |ecesy 00065}
€286 9.'685) 3
\ I+ |ecesy 9,685} wm
b |veesy eest| N
| W |veesy 98°28G) x
\ b |sTesy 00's85)
\ b |ozesy 00'08s}
R l+ |8cesy 00's/5}
Q
<
7o}
M N [T ooozsk|
-
\ b |zessy 00'sest
b+ |eessy 00095}
I+ |seesy 00'585}
9E'86 8255}
5 9E'86% 81265}
b 9E'86 1z2sst
~ 5 Se'86Y 09°085}
, b SE'86Y 00085}
, = VE'86Y 16'8¥51
: b zE'86Y 00'shS)
/ = ze'86Y szrsl| B
-
<
/ = 0E'86Y ooovsk| 1
/ = 1z'86% o0'sest
b SZ'86Y 00085}
m
| w | B Z
S b2 5 EZ g8 &
| @5 KD z3 Yz s
5 E2 | Q5 =2 | 23| ©
g2 | O¢g w3 | 22| K
8 a o op | 39 m
3 < T




